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452 =2025, 20 + 25 =45
552 =3025, 30 + 25 =55
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452 =2025,
20 +25 =45

453 Z91125
9+ 11 +25 =45
45" = 4100625
4410 + 06 + 25 = 45
455 = 184528125

1+84+52+81+25=243
- 2+ 43 =45
458 = 8303765625
83 + 03 + 76 + 56 + 25 =243
2+43 =45
457 = 373669453125
37 + 36 + 69 + 45 + 31 + 25 =243
2+ 43 =45
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{PEO (mod o)

P=1 (modB) @
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442 = 1936
19 +36 =55

443 = 85184
8+51+84=143
1+43=44

44% = 3748096
3474+ 80 + 96 =253
2+53=55
44° = 164916224
1+64+91+62+24 =242
2+42=44
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Q=-1 (mod B)
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2045 =20 + 452
3055 = 30 + 552
88297 = 88 + 2972
494703 = 494 + 7032
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455 = 184528125
1+84+52+81+25=243
2 +43 = 45
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518=5+1+83
26198297 =26 + 198 + 2973

12519492322 = 125 + 1949 + 23223
20301732728 = 203 + 0173 + 27283
4100645 =4 + 10 + 06 + 454

9150655 =9 + 15 + 06 + 554
35152125433 = 35 + 152 + 125 + 4334
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